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The closer we are 4o +ne point of tangency, +he T(X)
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As you see trom +he ?

graph, the '\'&HSEM line
and $&) appaar 1o te one
and the same wihing very | - o
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small invdervsl, The +an9c‘:"hl~ - X?

line appears 40 overlap F@) within aur very swall inferval which is
depicted on the grapit. Atthe poinkof Fangency, TOX) and S()
have +he 2ame hfjiﬂh'}. T$) and S¢&x) appear hawe Yhe Same hc?rgh'f‘
within Hhe very small ineral 4hat s Shown




As we ave Further fromthe pornt of 4angendy, fhe herght of TX)
and 3G are no lenger foe, sawme, For e¥ample, @t %, Tf“‘h?*‘ 5(%
T -5X) rc?pfcaen%:s fhe error a+ Xo. IF we wani +0 approxi rate

5(x2),

we plu“ have fo0 draw & fanoent line 8+ X, and encase +ma
very smdl] imervel where the tanoent line <nd 5(%) appear fo overlap and

\:SCQH\E -pme [3ame line segﬂen{, Wx%lh -H‘\t ﬂ%ﬁﬂc)y 5ma]\

nlersl, e Fangent line approximation becomes exiremely Close
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[f we envision line segment AB, (with point A remaining on
the tangent line and point B remaining on the curve f(x)),
moving to the left as it passes through positions 1 to 6, we
see that &Y and dY merge at some point beyond position 5;
The following happens: Ay =ay .
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IF we think in terms of vector addition from ph 61::5?
L(X) can be Jthoughlf of as q_uas] vector cﬂc\c\'\{

/ Sa)(x-a)

BN
LO)= $) + S@x-a)  0)

1on.

;
The eq_ualdon (1) 15 also know as the "foint—Slope Earmu(a{



In e%uajtnon (1), W{,
SomMEtIimesS rep\ace "x~-a"
with AX.

Eﬂ_uaf‘@ﬂ () then becomes
L= @)+ 3@ax @)

S0




P)ecap

L= 5(0) + S0 (x-a)
or
LX) = 3@+ Sla)yAx

SO A L= o)+ S (-0



